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: Self-Induction and Mutual Induction Mark(s): 0/4

Two similar circular coils carry equal currents in the same direction. When you move the two
coils apart, what happens to the magnitude of the current in each?

it ke Lo 05 Vi (oLl el a3 55 Lol (o g o i 1S (e (AR o 3 i
Slaga JS (A Algsll Ll jlaial

Learning Outcomes Covered

o PHY.6.2.02.012

a.
increasing in both Cnilall DS B 21y
b.
remains constant in both Osilal) 38 B Ay
[
1
1
C..
1
1 . . .
1 decreasing in both Galall s A Jay
1
1
1
1
1
B o o
d.

increasing in one, decreasing in the other A Giladl G iy Lady (Cdlall 2l B 3l




Q.2: Electric Generator

Mark(s): 4/4

A de

a.

(b) (a)

The figure shows two graphs representing the
induced potential difference as a function of
time for two generators.

Which of the following rows indicates the type
of generator in the graphs?

Coalenall agad) (38 Oy Gl Gaam ) JLE) gl
Ada &8V shuall gl L Gy S (gl () A1
lmana ) (1 S (Bl gl Al gall £ o

(b)

(a)

A simple direct-current generator
c el LAl baacs A ga

A simple alternating-current generator
233 el il by Al ga

(b)

(@)

A simple direct-current generator
< el il Jasss &) ga

A simple direct-current generator
calesal) il dasesy 2 g

(b)

(a)

A simple alternating-current generator
3 el il daay o g

A simple alternating-current generator
3 el il daes 3 g

(b)

(@)

A simple alternating-current generator
223 el il By 2 g

A simple direct-current generator
coAial) il daasy 3 34




Q.3: Single-loop circuit with a resistor and a source of time-varying emf Mark(s): 4/4

WA An electromotive source V,p =240sin(60t), is connected
R to a resistance R= 6,002, a5 shown in the figure.
Which of the following represents the equation of the current through
the resistor?
- (R= 600 Gy, =DA0sinB0F) b e
$.BlPhysics/G12 advanced %"M‘ Ja "L"d‘ A d“"l @Lﬂ\ s 55‘

Learning Outcomes Covered

o PHY.6.2.02.020

[
1
a.;
i
! ir =40sin(60t)
i
1
1
1
B o o o o e e R N N R SN RN N RN N RN SN RN N RN N RN RN SN N SN N RN RN SN N RN N RN N SN N NN N RN N RN N RN N RN N RN N RN N RN N RN RN A
b.
ip =240sin(60t)
C.
. : T
ir =240sin(60t + E)
d.

. = T[
ip =40sin(60t — E)




Q.4: Induced Electric Field Mark(s): 4/4

"
induced *

Which of the following formulas represents induced potential difference AV

! Avmducedmuh "Hﬁ d')é “M uw &’M'“ i ‘51

Learning Outcomes Covered

o PHY.6.2.02.011
o PHY.6.2.02.012

ds

E




Q.5: Driven AC Circuits Mark(s): 4/4

“ | Alternating voltage and current for a single-loop circuit
containing a source of time-varying emf and a component X ,
{fx -------- \ | phasers representing voltage and current as shown in figure,
b3 !_ What is the name of component X?
| X
Al g i e g i il gl Al g
@b}a}&MJ@\}#J}M‘Q@M&X@M)@J@}J‘F@
) PP P A
§.BIPhysics/G12 advanqed
Learning Outcomes Covered
o PHY.6.2.02.020
a.!
E Resistor poliae
b.
Inductor Lo
C.
Capacitor diga
d.

Capacitor and Inductor i g Liia




Q.6: Faraday’s Experiments Mark(s): 4/4

b.‘,\  Inthe shown figure, moving a magnet towards the wire loop induces a

ﬁ, VA | crrent toflowin the loop.

b1 %4 What s the direction of the induced current in the left segment of the
=T loop?

G !

) T oy i) & gty gl 2
) gyl i A8 ) g

Learning Outcomes Covered

o PHY.6.2.02.012

[
1
1
a.!
1
- From point b to peint 2 a dkidl N b Akl (e
1
1
1
1
1
e o
b.
From point a to point b b 43 Y a dkiid ge
C.
Perpendicular to the plane of the loop Aila) (s a2 5e8
d.

Can be in any direction sladl (s 8 CusSa O S




Q.7: A single-loop circuit containing a capacitor and an inductor Mark(s): 4/4

T+t b b er A
- 3l 96 1 = i S0 2
/ el |, il Janae, 5,0 A Conal b AL ol sl il e 3361

BIPhysics/G12 advanced

S

The figure shows an LC circuit. The capacitor is fully charged to q=8.0 uC

hefore the switch is closed. After the switch is closed, the maximum

S current in the inductoris 5.0 mA.
A Lg What is the inductance L of the inductor?
Q

Learning Outcomes Covered

o PHY.6.2.02.020

47.4 mH

256 mH

29.6 mH

12.5 mH




Q.8: Lenz’'s Law Mark(s): 4/4

Which of the following diagrams is correct according to Lenz's Law?

il )l L AL 81 o

r
1
1
a.,
1
1
1
1
: Bing
1 —
1
1
' I
1
1 B °
1 Increasing
1 i geasliadl Jlasl
1
1
1
1
1
e o e e e e e
C.

decreasing
i otaliadl Jladt




Q.9: Generators and Motors Mark(s): 4/4

Which of the following is correct about the generator and motors?

e g gl el s gy aa

Learning Outcomes Covered

o PHY.6.1.02.064
o PHY.6.2.02.011

r 1
1 1
a.; -
[ ] [ |
1 Generator that produces alternating voltages and Ll el L e L 143 e | | s ol 1
. . . al) g S A4 i O A o el | LA
- the resulting alternating current is also called an SIS TR e e 2 14 g g5 s -\;:1 -
- alternator. -
] |
1 |
| |
1 1
e o ol
b.
Motors are applications of electromagnetic Ll Cuualh il gall Ll paaalalii g gl Eadl o Wbl a5 S jaall
induction, but generators are not. Leashlita g <l Sal) o
C.
Generators contain loops in a magnetic field, but (5SS s aal) Ll skl Jlas Jals clila o g giad il gal)
motors do not. ol Je
d.

Motors transform Kinetic energy into electric
energy.

iy s 88 1) s Fi g ks )




Q.10: Induced Potential Difference Mark(s): 4/4

When can we use the near equation to find the induced potential difference?

a8
dt

Avmduced =- A COSH

e gl L) o Uiy

Learning Outcomes Covered

o PHY.6.2.02.012

[
1
1
a. -
1
1 .
1 A, and @ are constant 65 A
1
1
1
1
1
e i
b.
A, B, and 0 are constant g 8sBs A
C.
B, and 6 are constant. 0B
d.

A, and B are constant iSB s A




Q.11: Induced Potential Difference on a Wire Moving in a Magnetic Field Mark(s): 4/4

The conducting rod shown in the figure, is pulled horizontally through a uniform
magnetic field of 0.56T, with a constant velocity 4.2m/s. If the magnitude of
induced potential difference between the ends of the rod equals to 1,76V,

What s length of the rod?

4 ot 6T il i Jau g 520 gl il
176V g g gl e o i sl 2 S 14, 4,2y Al
(ol b Jiala

T T I

5.BIPhysics/G12 advanced
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1
a.;
1
: 0.75m
:
1
1
1
1
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b.
023m
C.
132m
d.

0.51m




Q.12: Inductance Unit Mark(s): 4/4

Which of the following is not a unit for inductance?

feall hilaa @il g (4 ol G Laa gl
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o PHY.6.2.02.022




Q.13: Magnetic Flux

Mark(s): 4/4

8.B/Physics/G12 advanced

According to the figure, which of the following is corresponding
about magnetic flux from surface A?

A ) (0 i) D 158 e (S0 o

Learning Outcomes Covered

o PHY.6.1.02.070
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Q.14: Time dependence of the current flowing through an RL circuit Mark(s): 4/4

A circuit contains a battery that supplies V., , an inductor
Ii\:/&ZOO Q with L = 2.40 H, a resistor with R=120.0 Q, and a switch,
connected as shown in the figure. The switch is closed at time = 0,
= the current L = 0.112 A at time £ = 0.012 s.
\ § S'_ a What is the potential difference of the battery Ve, ¢ ?
2 N §

.JJI L=2.40 H 4 Jana g V., @0 oy o 5,3 5 g
i JSd) 2 LS Alaia (rlillag R=120.0 Q 4laslia agliag
v l|_,?,? Oajll die [ =10.112 A s sbas Al gsd) Ll ¢ p= 0 (el 2l Ukl (3UE) L
emf— * * Vo b 42 34 )l £ =0,012 5

S.B/Physics/G12 advanced
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[ N N 1
] |
a.! '
1 1
: 30.0V '
1 1
1 1
1 1
1 1
] |
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b.
134V
C.
65.4V
d.

340V




Q.15: Single-loop circuit with a source of emf, a resistor, and an inductor: Mark(s): 4/4

The current is increasing at a rate of 3.60 A/s, in an RL circuit with R, and L = 440 mH.
If the potential difference across the circuit is equal 12 V when the current in the circuit
is 3.00 A, what is resistance R in the circuit?

sl 38 (13 L =440 mH Saag R daglia o (g giad (Al RL 5513 (b 3,60 A/s Jana Juiil) 3l
Al A R Aagliall jlaka la ¢ 3,00 A 3601 B Ll 68y Ladic 12 V 360l e

Learning Outcomes Covered

o PHY.6.2.02.020

3.47 Q

5.00 0

2.56 Q

4.50 Q




